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X 4 (5% €S (FEAR) [E @QFER) | OF7V) | @EER) Q-0
1. = ES 1 % a 5,971 5,940 5,985 6,051 6,134 6,217 6,064 A 153
1 A (73 2,524 2,501 2,488 2,534 2,647 2,662 2,605 A 57
i (2) 4+ ok 1,242 1,197 1,147 1,164 1,142 1,193 1,075 A 118
3 = ) it 2,205 2,242 2,350 2,353 2,345 2,362 2,384 22
5 b o= H oA M1 & 303 338 443 432 458 443 503 60
2. & ES P48 I o 293 358 364 349 395 379 354 A 25
(1) fth &= G- A #H & - 4 & 164 265 268 261 266 288 221 A 67
@ H (% ) # B & 1 0 0 0 0 0 0 0
P @B E # 8 =%2 & B A 57 56 55 48 85 43 87 44
4 = ) th 71 37 41 40 44 48 46 A2
% w 114 o (A) 6,264 6,298 6,349 6,400 6,529 6,596 6,418 A 178
w L & ES g M b 6,062 6,066 6,079 6,289 6,340 6,401 6,346 A 55
n % B & 5 #H 4,025 4,048 4,128 4,292 4,276 4,333 4,331 A2
(2) ™ B # 702 689 653 680 673 679 620 A 59
(3) & # 968 978 967 1,001 985 982 985 3
4 W Mm #H A 346 331 305 296 380 383 375 A3
(6 % ) it 21 20 26 20 26 24 35 11
2. & ¥ P48 i b 224 223 217 175 165 190 168 A 22
(1 X% E7 F IS8 45 42 38 36 33 32 30 A2
2 % D ittt 179 181 179 139 132 158 138 A 20
T H # M ® 6,286 6,289 6,296 6,464 6,505 6,591 6,514 A 77
R H & W—B) (©) A 22 9 53 A 64 24 5 A 9% A 101
w |1, 4FF 51l Fl (D) 0 0 0 0 0 0 0 0
w2 # ] #H % (E) 2,100 1 49 4 3 4 4 0
Bk Bl 3 (D)—(®B) ® | a2100 Al A 19 Al A3 Al Al 0
fili # o O©+@®| A 2122 8 4 A 68 21 1 A 100 A 101
# T X b=l & (G) 262 157 153 221 200 180 300 120
it 2| 4 P (7) 2,502 2,569 2,734 2,862 2,842 2,746 2,637 A 109
5 it ) = & ) 799 800 816 1,012 1,173 981 1,177 196
570 — B A & 0 0 0 0 0 0 0 0
BoOoE OE OB OB M W oW 0 0 0 0 0 0 0 0
(i BAEJEFBEEECTRMHEA @
X X kR % IT 0 # 0 0 0 0 0 0 0 0
” 75| R OEB €))
O OHCT () A 1,703] A 1,769] A 1,918 A 1,850 A 1,669 A 1,765 A 1,460 305
g ow W % H w2 <00
(B) 99.7 100.1 100.8 99.0 100.4 100.1 98.5 A 16
~ B OE OB Zfzﬁxmo
a A 285 A 298 A 32.0 A 30.6 A 272 A 284 A 24.1 4.3
Eo¥ W %k k—2—X100
b 98.5 97.9 98.5 96.2 96.8 97.1 95.6 Al5
Wik B0 5 2% 5 15 26 U9 25 bt 5 —=— X 100
a 67.4 68.1 69.0 70.9 69.7 69.7 71.4 1.7
M7 BRI T A 19505 19 )
CIVRELZE SO L A 1,703 A 1,769] A 1,918 A 1,850 A 1,669 A 1,765 A 1,460 305
g & & B o a0
a A 285 A 2908 A 32.0 A 30.6 A 272 A 284 A 241 4.3
] FN F H =33 87.8 86.0 86.2 87.0 89.4 89.2 88.5 A 0.7
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1. 4 ES & 0 0 29 292 0 160 70 A 90
2. i = i H ' & 0 0 0 0 0 0 0 0
3. = B A Ho & 0 0 29 285 42 136 70 A 66
Wl w 2= 3 # A 4 0 0 0 0 0 0
5. flt & F W & 0 3 17 3 3 0
6. «C B ) #H B & 0 0 0 0 0 0
7. % ) ity 0 0 0 0 0
m A (a) 0 3 61 594 42 299 143 A 156
A PpoBEE~RYBSNS (o)
X oo MR R Y HE 0 0 0 0 0 0
AR B2 5 AT A C 24 4R B Ny (c) 0 0 0 0 0 0
fliFk(a) —{(b)+(c)} ) 0 61 594 42 299 143 A 156
1. & B g B % 88 124 164 736 201 486 351 A 135
B3 PRI ¥ H E & & 142 97 100 109 167 147 154 7
3. f = F R MM ASIKRES 0 0 0 0 0 0 0 0
w4 % ) il 0 1 0 2 1 1 1 0
x W F (B) 230 222 264 846 369 634 506 A 128
2 5l A~ 2 B)—(A) ©) 230 219 203 252 327 335 363 28
o 1. #H % B & ¥ &k & & 210 212 203 252 326 335 362 27
< e Mo ® OB R & & W 0 0 0 0 0
Al B B T EOB® & 0 0 0 0 0
E; 4. % %) i 20 7 0 1 1
" i (D) 230 219 203 252 327 335 363 28
AR 2% (C)—(D) (E) 0 0 0 0 0 0 0 0
MEEREEMECTRMEA ®
X xRk ¥ IT O 0 0 0 0 0
"2 M O R (il (BE)—(F) 0 0 0 0 0
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2SI % (147) (143) (140) (137) (144) (144) (105)
467 603 711 693 724 731 724 A7
AR (0) 3) (3) a7 (0) (3) (3)
0 3 32 302 42 139 73 A 66
P (147) (146) (143) (154) (144) (147) (108)
467 606 743 995 766 870 797 A3
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